Rotatable Panel 90°
Angle Coupling

&

ARMENDUS

SUPPORT ARM & ENCLOSURE SYSTEMS.

( Pano Kése Girig Modulu )

TS EN 50085-1
TS EN I[EC 61439-1

WARRANTY

ARM130.400

1 Aci civatalarini yuvalarina takiniz.

(Insert the angle bolts into their slots and tighten them)

i

M8X20 (x2)

www.armendus.com

Kutu igerigi
Product Box Content

4x (U M8 x 30
2x _ M8X20
2x | M4xs8

4x J8.4

O

an

1x

Sari renkli banti ¢ikariniz. Yapiskan yizeyi iceri
gelecek sekilde contayi yerlestiriniz.

(Remove the yellow tape. Place the gasket with the
adhesive surface inside.)




Profili ok yoninde igeri dogru yerlestiriniz.

(Insert the profile into the coupling as shown in
the picture below.)

-

M8x 20 (x2)
Aci Civatasi

Aci civatalari uzun mesafeli tastyici kol uygulama-
larinda olusabilecek profil sarkmalarini engellemek
icin kullanihr.

(Angle bolts are used to prevent profile from sagging
due to heavy weight that might occur in long length
profile applications.)

M8x20 (x2)
Agci Civatasi

Profil civatalarini takiniz.

(Tighten the profile bolts)

J8.4 (x4)
M8 x 30 (x4)

Acli ayari icin M8x20 civatalari kullanin.
(Use M8x20 bolts for angle correction.)

Uygulamanizda sarkma yok ise aci civatalarini
orijinal konumunda modil Gstinde birakabilirsiniz.

(If there is no sagging in your application, leave the
angle bolts in tightened position.)

Uygulamanizda sarkma var ise M8X30 profil
civatalarini 2-3mm geri gekecek sekilde gevsetiniz.
Agci civatalarini egim farki kapanana kadar
gevsetiniz. ( Egim kontrolU icin su terazisi v.b
araclari kullanabilirsiniz.) Profil uygun agiya
geldiginde M8X30 profil civatalarini tekrar sikiniz.

(If there is sagging in your application,loosen the
M8x30 profile bolts by 2-3mm depending on the
angle desired. Once the profile is set to the desired
position, tighten back the M8x30 angle bolts. You
can use a spirit level etc. to check the slope.)

www.armendus.com




; gelecek sekilde contayi yerlestiriniz.

9 Plastik tapalan yuvalara takiniz.

(Insertthe plastic plugs into the slots)

Sari renkli banti ¢ikariniz. Yapigkan yizeyi iceri 8

(Remove the yellow tape. Place the gasket with the
adhesive surface inside.)

www.armendus.com

M4 x 8 (x2)

Sustali kol, modUlin dénis sertliginin ayarlanmasin-
da kullanilir.

(The switch lever is used to adjustthe
rotationalstiffness of the module)

-~

M8x25 Setskur'u takiniz.

(Assemble the M8x25 set screw)

7



1

J8.4 (x4)

Dikkat:

ModUlin sag sol dénuslerini M8X25 civata ile
sinirlandirabilirsiniz. ModUl Gzerinde 4 adet delik
bulunmaktadir. D6nUs sinirlarini istege bagh olarak 1
adet civata ile de yapabilirsiniz.

Attention:

You can limit the right-left rotations of the module with
M8X25 bolts. There are four holes on the module. You can
optionally set the rotation limits with one bolts.

D6nis Sinirlama Duvarn
(Rotation limit wall)

Modili pano Uzerine yerlestiriniz.
(Place the module above the panel.)
Civata ve pullar kutu igerigine dahil degildir.

(Bolts and washers are not included.)

M8 x 30 (x4)

Sari renkli banti ¢ikariniz. Yapiskan yizeyi igeri
gelecek sekilde contayi yerlestiriniz.

(Remove the yellow tape. Place the gasket with the
adhesive surface inside)

58.00

www.armendus.com

Pano Uzerine agilmasi gereken civata baglanh
delikleri ve kablo gegis delik dl¢ileri.

( Bolt connection holes and cable hole dimensions on
the panel if required for assembly )




